CioBdps

A. CymecTBATeIbHEIE

aIBOKAT

aKTEp

aKTprica

OanK

Ou3HeCMéH/Kal

foJibHMIA

BEK

BOIHMTEND

BOK341

BOCTOK

Bpay’

rén

rocyndpcTBo?

nupéktop (pl. nupexTopd)
n6xtop (pl. moKTOp4)

Y PHAIACT/ Ay PHATACTKA
3aBOT

4

[Ipodgéccun
Professions

Hésoe — 10 xopomé 3abritoe cTdpoe.
The new is the old, well forgotten.

lawyer

actor

actress

bank
businessman/woman
hospital

century

driver

train station

east

doctor

year

State; country [cf. mTat]
director

doctor

journalist

factory

137
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3dman west

VHKEHED engineer

KabUHET office

Haskds The Caucasus (mountainous region
south of Russia)

KOMUTET committee

KOHLEPT concert

néxuud lecture

MarasiH store

mécan month

MUHUCTEPCTBO/MUHICTD ministry /minister (of culture, finance)

MY3bIKAHT musician

Henéna week

énepa opera

nesen;’ singer (male)

neBHua singer (female)

nuciresnasb writer

MOJATUK politician

MOJUTOIOT political scientist

néyra post office

I paBUTEIbCTBO? government

npennpusrue enterprise

npoaaBély/IpoaBIIiIa salesperson

pab6unii/pabiuasn’ worker

césep north

cobpdnve meeting, gathering

COBET council

COBETHUK adviser/counselor

cnoprcmén(xa) athlete

cTanudH stadium

CTPONTEND builder

Te4Tp theater

Ykparina Ukraine

Ypin Urals

YUEHBI® scholar

YUATeNb/yIATEeNbHUIA schoolteacher

0y south

Xy IOKHUK artist (sculptor, painter, not dancer)

(pabpuxra plant; factory

dripma firm, company

mTar state (as in U.S: Florida,

Vermont, etc.)



B. I'naréan
OriTh  (irr)
BCIOMMHATE  (-aj-) + acc.; or

o +loc.

rynirs  (-aj-)
naBdTh (-avaj-)*
nymarts  (-aj-)
3BdTh (n/s-a)
HaxomuThca  (-i-)
néth  (irr)
nndsare  (-aj-)
DOMHUTH  (-i-)
nponasdrs (-avaj-)*
pacckdspiBaTh  (-aj-)
pucoBdTh (-ova-)
CMOTDPEéTh  (-e-)
coséroBats (-ova-) (+ dat.)
cTdte (-n-) (+inst.)
TaHuesiTs (-ova-)
XOmUTh (-i-)

C. llpunardrensusie
Oy mymuits
ropoicKoit
rocyIapCTBEHHBINH2
3HAKOMBIIf
3HAMEHUTBIN
13BECTHBIN
OTBITHBINA
1 pOULIBIIS
COBMECTHBIM
TaJAHTIUBBIN
q4CTHBIN
MTATCKUN

D. Hapéuus
Buepd
1aBHO
3dBTpa
KOT14-TO
Kyna
HEI4BHO
noTém
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to be

to reminisce, recall, recollect,
remember

to stroll, hang out

to give

to think

to name, be called

to be located

to sing

to swim

to remember

to sell

to tell a story, relate

to draw

to look at, to watch

to advise, counsel

to become (past or future)

to dance

to walk, to go, attend

future, next

city

State (government)

familiar, known

famous (stronger than n3B€cTHbIIH)
well-known

experienced

past, last

joint

talented

private (i.e. privately owned)
state (in U.S,; vs. “federal”)

yesterday

long ago, for a long time
tomorrow

at one time (in the past)
[to] where; “whither”
recently

later, then, after that
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pénblie earlier, before
ceronsa today
CKOpO soon
CHavama in the beginning, at first
TOrId then, at that time
E. Hpyrie
MOxeT OBITh maybe

Notes on Vocabulary

1.

2.

The feminine form 6usnecvénka is only used in colloquial Russian and is not part
of the literary language at this point in time.

Be careful not to confuse the two words in Russian referring to government
(mpaBriTenscTBo) and state (rocyzdpcrso). The adjective rocyndpcTBensslit is quite
commom and is often abbrieviated as roc in titles of organizations (cf. examples
given below). In the American context, “state” (in the sense of “the 50”) should be
translated as mrar/mrirckuit. Note the following expressions that illustrate the use
of “state” in the Russian context and in one instance of the American context:

roCYIAPCTBEHHBIN YHUBEPCUTET state university (public)
[Cockomé6p/T"ocy ndpcTBenHbIA

KOMUTET 00pa3oBdHUA (State) Ministry of Education
HKomurér roctezonicroctu KGB (Committee of State Security)
["ocnenaprédvent U.S. Department of State

. Some words that have adjectival forms (-b1if, -ag, -oe endings, etc.) actually can

function as nouns. They can do so in these instances:

a) Used in their neuter form, adjectives can function as nouns, having the English
equivalent of adding “the”:

npéunuioe - the past;
6ynymee - the future;
xopémee ¥ KpacHsoe - the good and the beautiful.

Since the possibilities for this usage are endless, in this textbook these words will

not be listed separately as nouns.

b) Many adjectives have been “substantivized,” i.e., regarded as nouns simply by
convention. Some of these, referring to rooms, were already presented in
Chapter 2 (cronésas, rocrinas, etc.). In this textbook, new words of this type
will be listed as nouns.

3HaKGMblil/3HaKOMaA acquaintance
YYEHBIA scholar, scientist
pa66unit/pabéuas worker

All words fitting in these groups will decline like adjectives, but function as
nouns.



Chapter Four ¢ 141
4. Verbs whose conjugation type is new in this chapter are:
a) —avaj verbs: 1aBdTh, nponaBdTh. “avaj” becomes “aj” in the non-past:
Non-past: na, naéms, gaér, naém, naére, gamor
Past: napdn, masdma, masdnu
b) -ova verbs: cosérosath, TaHueidTs The -ova in the stem of these verbs is
replaced by “uj” in the non-past:
sov’etova — sov’etyj + u — COBéTyIO
Non-past: coBéTyio, coBéTyemnib, COBETYET, COBETYEM, COBETYETE, COBE-
TYIOT
Past: cosérosan, coséroBasia, COBETOBAIU
¢) (n/s-a) verbs: 3BaTh
Non-past: 30BY, 30BEmb, 30BET, 30BEM, 30BETE, 30BYT
Past: 3Ban, 3Bdna, 3Bdnu
d) (-n) verbs: cTarb
Non-past: crdny, crdsems, cTdHeT, cTdHeM, CT4HETE, CTAHYT
Past: cran, crdna, crdau
e) Irregular verb: 6biTs (See p. 153)
f) Irregular verb: nets
Non-past: nowo, noéms, noét, noém, moére, MOOT
Past: men, néna, nénu

5. siiners and cmotpérs. Biiners translates as “to see” and cmoTpérs as “to look” or
“to watch.” The student must be aware of the difference in verbal government and
the one context where these verbs are almost interchangeable - when used with the
word “film” (Grasm).

BUIETDH + Accusative case

CMOTPETh + Accusative case (“watch”);
+ HA + Accusative case (“to look at”);
+B + Accusative (“to look in [to]”);

Compare the following examples:

Koré s sibky? Créabko ner, ckéasko 3uM! — Who do I see? (Look who's
here!) Long time, no see!

Mos marp nndéxo Bumur. — My mother doesn’t see very well.
Méit crin no6ut cMoTpéTs Tenesrsop. — My son likes to watch T.V.

Cmotpii Ha meHnd, xorgd a ¢ To0GH pasroBipuBaio. — Look at me when I'm
talking to you.

Ond cmorpéna Ha vackl, notomy uto xnand 3BoHKd. — She was looking at
the clock because she was waiting for a phone call.
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Ona cmotpéna B oxkHO M Bimena ayHY. — She looked out the window and
saw the moon.

He cMorpiite B kmiiry, xornd Bel Gynere MMCATH KOHTPOIBHY. — Don’t
look in the book when you’re writing your exam.

CMOTpuUIIs B KHUTY, BAIUIEL GUry. — You look in the book and see nothing.
(When you're very tired and you read a line over and over
again but it never makes sense. )

Tor Brinena uoseiit @rinsm TaprGeckoro? - [a, siinena. Have you seen
Tarkovsky’s new film? - Yes, Ihave.

Gro ter néman suepd? - fl cmorpén Prasm. — What did you do yesterday? -
I'watched a movie.

Buepd s mocMoTpén 6uens xopumit @rasM. — Yesterday Isaw a very good
film.

[Mocaésumsr:
CMOTpAT BCe, a BUOAT HEMHOTHE. — Many look, but few see.
Hény - Bpémsa, a moréxe - yic. - There is a time to work and a time to
play.
Bosnk6s Gosteca, B nec He xomdTh. If you can’t stand the heat, stay out of
the kitchen. [Lit: If you're afraid of wolves, don’t go into

the woods.]
Bex muBi - Bex yuincsh. - Live and learn. [Lit.: Live a century, learn a cen-
tury.]

fliina kypuny e yuar. - The eggs don’t teach the chicken.
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Yréume u muandr
Yrénue: Tpodéccun

Mens sosyr Anexcéin. fl yuych B ymuBepcurére Ha TpéTheM kYpce. Pdubuie 1
XOTéN CTATH KypHANACTOM ¥au monutéiorom. [lodTomy Ha BTOpOM Kypce A M3yddnd
nomitury. Ho ceitudc a nymaio o mpodéccuu Bpaud, u BOT mOUEMY.

Méit orén - Bpdu. On pab6raer B rocymipcrsennoit Gombmiue. IIpémasiv néToM
Y4CTO XOIWI C OTHOM B GOJBHUNY W CMOTpEN, kak OH paGdraer. fl Brmen, yro BCE
éueHbp mMOGAT erd, MOTOMY uTO OH YMHBIN, NGOpHIt M Xopomé 3Hder cBo&! mémo. Méii
oTél GmbITHBI Bpdu M Bcernd Bcém? momorder. Sl uicto BcmommmdAlo 3To néro. f
3Hd10, yro OBITH BpauGM TPYAHO, HO TAKKE W GYeHb NPUATHO, TOTOMY YTO NOMOTAThH
moIamM2 BCermd mpUATHO.

M6 crdpmuit 6pidr Cepréit - mysvikdur. Bcé B mdmeit cempé rosopsr, uro OH
TAJN4HTIAMBRIN, U vy Herd Gompmde 6ymymee. Hendsno mpl ¢ ceMbéii cMOTpénu TeneBU-
3op u rnean Ceprés. Iro 6vu10 mpuAtHO. OH YKE MIBECTHBINA MY3BIKAHT.

Mosd crdpmas cecrpd emé He 3mder, xem oHd Oymer. Cefiudc oxHd
pabdraer nponasumineit B marasune. OH4 mpomaér xomnbioTepsl. [ldna coséryer cec-
Tpé CcTdTh MHmeHépoM. A mima coséryer éif CTATH XYIOWHMKOM, NOTOMY 4TO OHA
xopomd pucyer. Ha npémiioit Henéne cecTpd ckasdma mué, 4To x0yer mHEM paboTarsh
Ha 1éuTe, a BEYEPOM TaHLEBATL M OTABIXATHL C Hpy3bsiMu. TpymHo moHATH, 9TO OHA
xGuer. f mymaio, 4To éif He HPABUTCA YUUTHCA.

Héma méma - agsoxdr. Omd pabdéraer B Goapwméit wictHoit dripme. Mdima ros-
opit, 4to BCE mpodéccuu uuTepécHbie. OHA mOOUT cBOX pabdTy, a A AyMaio, UTO
OBITh amBOKATOM CKyuHo. Ho a momuMaio MdaMy: KOrjd 4esioBéKY HPABUTCA XOOUTh Ha
paBéry - 310 xopduias pabdra.

1. cBO€ - CBOI - one’s own

2. BCeM, IOAAM - Bce, monu, dative
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1. Bonpdcer  urénuio
a. Jla vinu Her? If the statement is false, rewrite it to make it true.
1. Anercéit pambiie XOTEN CTaTh MONATHKOM.
2. Anexcéir mobur csoerd orud.
3. Anexcéit HenpuATHBIZ 4ETOBEK.
4. Crdpman cectpd Anexcés xG6ueT CTaTh UHKEHEDOM.
5. Méma Anexcés nymaer, YTO OBITH aIBOKATOM — CKYUYHO.
b. OtBéThTE HA BOMPOGCHL.
1. Kax Bel gymaere, Bce mpodéccuym UHTEPECHBIE?
2. Xopomd ObITh agBoKATOM? BpauOM? My3bIKAHTOM? mnpodéccopom?
3. Kax Bnl nymaere, kem crdmer cectpd Amapés?
4. Kax Bo1 gymaere, Aunpéit crdnmer xopémum Bpauém? Ilouemy wiam nouemy HeT?
Huanér:
Muma: Mdma, Te1 yxé 3Hdems, keM Thl CTAHENIH?
Méma: fI xouy OniTh yudTenem u pabdéTarh B mKGNe, Kak Mof MiMma.
Muma: Tel gymaews 370 He CkyuHo - pabdrtate B mrdie?

Méma: {1 nymaio - mer. I mobmd neréit. A xem Twl X6uemp CTATH?

M#ma: f xouy O#its GonbmiM yuéuwmMm. f nw00A®0 uuTdThH, NWOAD
3aHUMATHCA B OmbOamoréke. B Oynymem g xouy MUCATH KHUTM U CTATHh 3HA-
MEHYTHIM.

Médma: O uém Oymer TBOf KHNra?
Mima: O mondTuke, 0 TOCYIAPCTBE, O MPABUTENLCTBE.

Méma: Jro unrepécro! (Bor 3To ma!) A Tel Gymems BCIOMUHATH 660 MHeE, KOTHd
CTdHeImb W3BECTHBIM?

Mvma: Her, noromy yro s O6ynoy Bhmerh TeOf KAKIBIA IEHB.
Mdma: 1 we monand. UYro Tl x6uemp CkazdTh?

Mrma: Tyl Oymems mMoéi seudil - BOT 4TO A XOUY CKa3ATh.
Médma: Tl Tak gymaems?

Miuma: A e ngymaio, a1 3udo.

Méma: Trl - raymsiii.

Mima: A T yMHas u kpacusas. JlaBdit 6yzem Ipysbimu!l
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Méma: Jldnmo? mokd!

Mima: o cBunduus!

1. aBait 6ynem npyseamu! = Let’s be friends!
2. Jldnuo = Xopomo! (OK)

Bonpécn x guandry
1. Kro rosopit ¢ kem?
Ontt mMoJomgsie unu cTépeie?
O uém omri rosopsdr?
Kem x6uer crarr Mdma?
Hewm paGdrana e€ mama? Ilouemy?
Hem xdver crars Muma?
O uém 6yner nucdts Mima?

R N Oy U W N

Kro crdmer msBécrHbiM?

9. Ilouemy Mitma ue Gymer BcnoMurAT, Mdamy?
10. Kor6é Mima mno6ur?

11. Myma ruyneiit? [lowemy Mdma rosopit 3t0?
12. Muma 6ymzer mymem Mamu?
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The One-Stem Verb System for Contemporary Standard Russian (CSR)

Roman Jakobson, one of the most prominent linguists of modern times, devised a
one-stem verb system for Russian that greatly simplifies and enhances our understand-
ing and learning of the conjugation of Russian verbs. The one-stem approach identifies,
within the first- and second-conjugation verb groups, various types of verbs (verb classi-
fier types) according to characteristics of stem, stress and mutation patterns. The names
of the classes are based on the type of suffix, or verb classifier, found at the end of the
verbal stem.

In this system, the stem of a verb must be learned. The stem is a form of the verb that
does not appear anywhere in the spoken language; it is merely a skeleton that informs
you how to conjugate the verb accurately. You may ask, if the stem doesn’t occur in the
spoken language, where are you to find out what a verb’s stem is? The answer: in your text-
book. Derivation of the verbal stem is elementary, but is not necessary for pedagogical
purposes. In the glossary at the back of the text, as well as in each vocabulary list where
verbs occur, the authors have indicated in parentheses each verb’s classifier type, from
which you can easily determine the stem, and hence the conjugation. A complete table of
all verbal types can be found in Appendix III.

For example: Find the verb 06énath in the glossary. You will see it belongs to the
verb classifier type -aj. This means the stem is ob’edaj+ (o6enaii+), and will be conjugat-
ed like all other verbs of this type (first conjugation; no stress shifts or mutations).

Now find the verb mobiits in the glossary. It is identified as type -i, which means
the stem is 1'ub’i+ (m06u+). It is, therefore, a second conjugation verb and may have
stress shift and consonant mutation in the first person singular (a) form.

Find the verb wuts. It is identified as belonging to verb classifier type -v. This means
it is a first conjugation verb whose stem ends in v: Ziv+ (#uB+).

The basic verbal endings for present tense, past tense and infinitive forms are given
on the following page.

Using the vocabulary lists or glossary, fill in the chart, showing the classifier and
stem of the following verbs:

Verb Classifier type Stem

N714B8aTh

BALETH

JIEHATE

COBETOBATh

MMMCATD

XOIMUTH

Now that you have the stem, you need to add an ending to it to produce the desired
form. The basic verbal endings for the non-past, past and infinitive are given directly
below, followed by rules to remember when adding them to stems.
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One-Stem Verb System: Endings

I. Non-past endings (in cyrillic and structural transcription):

Number Person First Conjugation Second Conjugation
Cyrillic S.T. Cyrillic  S.T.
First (a) -y/-10 -u -y/-10 -u
Singular 4§ Second (51) *-elb ‘-08’ *-uip 18
Third (on, ound, oud) *-er ‘~ot *-uT ‘it
First (Mp1) *-eM ‘om *-uM ‘-im
Plural Second (B5I) *-ere ‘-ot’e *-ure ‘“it’e
Third (ou#) -y1/-10T -ut -at/-ar  ‘-at

* This basic “o” will always be written e (when stressed) or & (when stressed)

II. Past tense endings: Note that gender distinctions are maintained only in the singu-
lar, never in the plural. The hard 1 of the singular softens in the plural.

Masculine: -1 -1
Feminine: -na -la
Neuter: -J10 -lo
Plural: - -1

III. Infinitive ending: -Thb (ST: -t").
Other possible infinitive endings are: -TU (ST: -t'i), -Ub (ST: -¢)
To add an ending to a stem, simply follow the rules of addition and truncation. These
rules are:

A. Truncation: occurs when combining two identical types (2 consonants or 2
vowels).
1. Consonant; + Consonanty = Consonanty (i.e. the first consonant drops)
2. Vowel; + Vowely = Vowel, (i.e. the first vowel drops). The consonant preced-
ing vowel may mutate (see below).

B. Addition: occurs when combining different types.

1. Vowel + Consonant = Vowel + Consonant [V+C=V(]
2. Consonant + Vowel = Consonant + Vowel [C+V=CV]

EXAMPLES: Notice that both truncation and addition occur in most verb forms, gen-
erally alternating between past tense/infinitive forms versus non—present forms.

A. Truncation:
1. ziv +1=zil — wun (/v/ drops)
2. rabotaj + t" = rabotat’ — pa66rats (/j/ drops)
3. govor’i + im = govorim — rosopnum (first /i/ drops)

B. Addition:
1. Ziv + u = Zivu — xuBYy
2. rabotaj + 0§’ = rabotajo§’ — pab6dTaeuis
3. govor’i +t'=govor’it’ — ropoputs
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Consonant Mutations

One last point: when you perform “vowel-vowel” truncation where -o or -u are
added to the stem, a mutation will occur in the preceding consonant if it is a “mutable”
consonant. (Below is a complete list of all possible consonant mutations.) In second con-
jugation verbs, then, the mutation can only occur in the # form. In first conjugation verbs,
the mutation occurs in all non-past forms, since all of the endings begin with a basic -o or
-u.

All possible consonant mutations in the Russian verb.
I > K
T> Y
3> K
C >
CT > I
CK > I
n>u
r > %
K >4
10. x > w
11. 6 > 6a
12. m > mn
13. M > mn
14. B > B1n
15. @ > pn
16. 1 > mx* [These final two mutations are relatively rare
17 1 > w* and are borrowed from Old Church Slavonic.]

O 0 NON UL W N

Russian examples English examples

BIIETh/BIKY delude/delusion, proceed/procedure
MIaTATH/ Ty rapt/rapture

CKa34Th/CKaKy please/pleasure

MUCATE/TIHIIY face/facial

XJIeCTATh/XJemy Christ/Christian

UCKATH/ Iy

KOoHEéL, but KOBUUTH

N O UL W N

MOYb: MOTY, MOMelb

O

neyb: MeKy, NMevyelpb

—
o

Max4Th/MaIy
TI00ATE/ MO0

[URE—
DY

CIATh/CILIIO
CIIOMUTHCA/CIOMIIOCE

._4
w



14.
15.
16.
17.
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rOTOBUTE/TOTOBIIIO
rpaduTh/rpadid
nobexadTs/mobennTs
0CEMATh/IOCETHTh

Let’s put it all together, and see how the process of addition, truncation and mutation

work

With

S

FIRST CONJUGATION VERBS: Non-past endings = u, ‘08’ ‘ot, “om, ‘ot’e, ut

nndsars (-aj)

Present:

Past:
AT (-V)
Present:

Past:
mutations:
nucars (-a)

Present:

Past:

pucoB4TH (-ova)

stem = plavaj + (nndBaii+)

type -aj = first conjugation, no stress shift, no consonant muta-
tion

#: plavaj + u = [consonant j + vowel u =ju] = plavaju = nisaio
Tol: plavaj + ‘08’ = [consonant j + vowel o = jo] = plavajo§’ =
11dBaes

on: plavaj + 1 = [consonant j + consonant 1 = 1] = plaval

= ndsan

stem = Ziv+ (KuB+")

type -v = first conjugation verb, end stress

f: Ziv+ u [consonant v + vowel u = vu] = Zivu = wuBy

OH: Ziv + ‘ot [consonant v + vowel ‘0 = v’'0] = Ziv’ot = UBET
OH4: Ziv + la [consonant v + consonant 1 = 1] = Zila = wund

stem = p’isa + (nmuca+)

type -a = first conjugation verb, stress shifts and consonant -s
mutates in all non-past forms (because all endings begin with
either -u or -o0)

4: p’isa + u [vowel a + vowel u = u with cons. mutation s to §] =
piSu = numy

MbI: p’isa +’om [vowel a + vowel o = ‘o with cons. mutation s to
§] = p’i¥’om = nitmewm

Bbl: p’isa + I'i [vowel a + consonant 1 = al] = p“isal’i = nucdnu

stem = r'isova + (pucoBd+)

type -ova = first conjugation verb, no stress shifts, mutation of -
ova to -uj in all non-past forms (a feature of stem, not of trunca-
tion)
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Present: f: r'isova+ u = r'isuj+u (consonant j + vowel u = ju) = r'isyju =
pucyio oHi: risova +ot = r’isuj+ot (consonant j + vowel u = jot)
= r'isujot = pucyer
Past: oHM: r'isova + i [vowel a + consonant I'i = al’i] = r’isoval’i =
PUCOBAIU

SECOND CONJUGATION VERBS : Non-past endings = u, i¥, it, im, it’e, at
mobuTs (-i) stem = 1'ub’i+ (0Ou+)
type -i = second conjugation verb, stress can shift and consonant
-b mutates in a1 non-past (because of ending that begins with -u)
Present: a: 'ub’i+ u = [vowel i + vowel u = u] = 'ub[l]'u = 1106110
oHM: 1'ub’i + at = [voweli + vowel a = a] =1'ub’at = m06ar
Past: MbL: I'ub’i+l'i = [vowel i + consonant I’ = il'] = 'ub’il’i = mo6HIm

Stress patterns in verb conjugation.

1. Stress is always the same in the infinitive and the s form of a verb (excluding the -
OVA class)

2. An x is used to mark a shifting stress (this will be marked in vocabulary lists in this
textbook). When a stress shift does occur in the non-past form of a verb, it always
starts on the ending (in the infinitive and 1) and moves backwards to the stem by
one syllable in all other non-past forms. Examples:

MO6NTE - 1 mMobmO, Thl MOOUIL, OH TOOUT, Mbl TOOUM, BBHI
J00uTe, oM JIOOAT

NUCATh - A TUIIY, Thl DALIENb, OHU NHIIYT

VIATBCA - 4 y4yCh, Thl YUUIILCH, OHM YyaTCA

XOONTh - f XOWKY, Thl XONUINb, OHM XOLAT

Of the nonsuffixed verbal classes, only the k-g class has stress shifts in the non-past
forms.

3. Stress shifts in the past tense forms include retractions to the stem and retractions
to the negative particle “ne”. The feminine singular past tense form does not partici-
pate in retractions. Note the following examples:

(a) navdre: Hdvan, Havand, Hdvamo, Hdvanu (retraction to stem except for
feminine)
(b) GsiTb: ObLI, ObLT4, OBLNO, ObLIM; but: Bé ObLL, EHe ObLI4, Eé ObLIO, HE
ObLH (retraction to the negative particle except for feminine). Note that the
negated forms are pronounced as one unit.

Notice that:

1) for first conjugation verbs, the Tsl, on/oH4, MbI, and BBI endings begin with - o.
Since this -0 will always end up having to be represented by a Group II vowel, it
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will become a & if it is stressed (kuB&wb, xUBETE) or a e if it is unstressed
(nndBaems, nidsaere);

2) second conjugation verb endings will always begin with Group II vowels (10, u, )
unless prevented by spelling rule after hushers (then only y, a). Ex: n0o61,
mobums, mOGAT; roBOPI, TOBOPHINL, TOBOPAT; JEKY, JEHWUNIb, JEKAT; BIDKY,
BAOMINL, BUIAT.

The following is a list of all verb types. Notice there are only three second-conjuga-
tion types, while there are many first-conjugation types. Further, all new verbs that come
into the Russian language at this point are going to be first-conjugation verbs (though
not all the types of first-conjugation verbs “accept” new verbs).

Remember that you can look up the type of any verb in this book in the glossary at
the back, as well as in the individual chapter vocabulary lists.

One-Stem Verb System: Types

Suffixed verbs II. Nonsuffixed verbs:
all first conjugation
A. Second conjugation: Lv
1.4 2.n
2. -e 3. 0
3. -husher-a 4.5
[subgroup: -ja] 5.
B. First conjugation: 6. /n, /m
1.-a 7./t
2. non-syllabic -a (N/S-a) 8.t/d
3. -ova 9.5/z
4. -aj 10.k/g
5. -€j
6. -nu (nondisappearing -nu)

7. [-nu] (disappearing -nu:
-nu drops in past tense)

8. -avaj

9.-0

The following is a reduced list of the most common verb types, with examples, that
the student will encounter in the first year of Russian studies. A complete list of all verb
types, with examples, is provided in Appendix III.

Verbal Classifier: Examples
I Suffixed verbs:
A. Second conjugation:

1. -i: If the final root consonant can mutate, it will, but only in the first per-
son singular. Stress shift is common in nonpast forms [end stress in the first
person singular, stem stress in all other forms.]

Example: XomATs: X0kYy, X0aumb, XOIUT, X61uM, XOIUTe, XOIAT
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Other examples: 11001iTh, TOBOPATH, MGMHUTH,
HaxXOOUThCH, YUNUTHCA

2. -e: If the final root consonant can mutate, it will, but only in the first per-
son singular. Stress shift is possible in nonpast forms [following the pattern
of —i verbs, above.]

Example: BlifeTs: BUXY, BAIMING, BANUT, BUIUM, BANUTE, BAIAT
Other examples: cunérs, cMOTPETh

3. -husher-a: No mutations, no stress shifts. Includes -j- a subtype.
Example: nexaTh: NeKY, JEHUAIIb, JEKUT, JEKAM, JEHNATE, JEWAT
Other examples: crof1s, 6ofrsCH

B. First conjugation:

1. Suffixed verbs:
1. -aj: No mutations, no stress shifts.
Examples: 3ndTb: 30410, 3Hdems, 3H4eT, 3HdeM, 3HAeTe, 3HAIOT

Other examples NOHUMATh, CIYWATh, YUTATH, OTBEUY4TH, pabOTATh, M3YY4TH,
3aHUMATBHCA, YIKUHATH

2.-a: Mutation throughout the nonpast conjugated form. Stress shift is com-
mon in nonpast forms [first person singular versus other forms.]

Examples: nucdrs: numy, mimems, NANIIET, NHLIeM, NHAmeTe, NAYT

3. -ova: Mutation throughout the nonpast conjugated form.
Examples: coBéToBaTh: COBETYIO, COBETYyeIllb, COBETYET, COBETYEM, COBETYETE,

COBETYIOT

Other examples: pUCOBATh, TaHIEBATH

4. -avaj: Mutation throughout the nonpast conjugated form.
Examples: naBdts: 1ai0, naéws, 1aér, naéM, naére, JaioT
Other examples: nponasdrs

II. Nonsuffixed verbs:

1. -v: Consonant /v/ occurs in nonpast conjugated form. Stress shift is
common in the past (fem. stressed on end).

Examples: sWUTh: KUBY, KUBEMb, KUBET, HUBEM, KUBETE, WUBYT, KU,
A0, WAMM, WU
2. -n: Consonant /n/ occurs in nonpast conjugated form.
Examples: cTaTb: CTdHy, CTdHemb, CTAHET, CT4HeM, CTdHeTe, CTAHYT
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Use of the Verb “To Be’ in the Past and Future Tenses

The verb 6ITh (to be) is irregular. As you already know, in the present tense a form
of the verb “to be” is not used (cf. Tet cTynént? - Are you a student?; Or Bpas.- Heisa
doctor.). However, the past and future tenses do require a form of the verb “to be”.

What looks like the present tense of the verb is actually the future (Ts1 6ynems B
Mocksé nérom? - Will you be in Moscow this summer?; fI 6b114 B Pocciin. - I was in
Russia.) For information on usage of 6biTs, see the later section in this chapter, “Use of
the Instrumental Case with 6siTh, cTaTs and pabdTaTs.”

Here are the conjugations of the verb 65iTs. Pay special attention to the stress shifts
in the past tense forms.

PAST FUTURE
masc. OvL1/H6 GBI q 6yny
fem. ObL1d/He ObLI4 THI Oy nems
neuter Or110/Hé OBLIO on/on4/0HE 6ymer
plural O51IM/Hé ObLIN MBI bynem
BBI oyznere
OHU oy ayT

Verbal Aspect: A Glimpse

There are two types (aspects) of verbs in Russian: imperfective and perfective. All of
the verbs that you have learned so far are imperfective, but there is one new verb in
Chapter Four that is not imperfective: the verb “to become” - ctars. You will learn a lot
more about the differences between imperfective and perfective verbs beginning in
Chapter Five, but for now you need to know only a few things about them:

1) Imperfective verbs exist in all three tenses - past, present and future, while perfec-
tives exist only in the past and future.

2) Whenever an imperfective verb is conjugated in the non-past, it automatically gives
the present tense, but when a perfective verb is conjugated in the non-past, it auto-
matically gives the (perfective) future. This is why we call these forms the “non-
past.”

3) The past tense of both imperfective and perfective verbs is formed exactly the same
way.

The following section describes how all the tenses are formed.
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Verb Tenses: Formation

The Past Tense: Modern Russian has only one past tense type, which is formed by
adding the ending /1/ (cyr: 1) to the verbal stem. The differences in masculine, femi-
nine, neuter or plural are shown by adding the following endings to the /1/:

Examples: 0ObITh pénarhb 3aHUMATHCH” CTaTh
masculine o OBLI nénan 3aHUMAIICa cran
feminine -a OpLI4 nénama 3aHUMAJIACh crdna
neuter -0 OB1JI0 nénajo 3aHUMANIOCH cTaino
plural U ObL1H nénanu 3aHUMANNCH CTdmu

*Remember that the verbal particle -ca will become -cb if the preceding sound is a vowel
(cf. 3anUMATHCH).

The Present Tense. You have already learned that the present tense is expressed
when an imperfective verb is conjugated in the non-past. Refer to the explanation of the
one-stem verb system for details on this form. No perfective verb can grammatically pro-
duce the present tense.

The Future Tense.

1. The future tense of any imperfective verb requires a conjugated form of the verb
“to be” (6b1Th) followed by the infinitive of the imperfective verb:

nénarp CyJiTh
1 oyny ménats Oy1y ryiairsh
THI Oynews nénarkb Oymems IyisTh
ou/6/4 Oymer némath 6yner ryidrs
MBI Oynem nénath oyrem rynsirsb
BbI Oynere nénath oymere ryiafrsh
OHH 6yayT nénartb OyayT ryafrs
(will do, be doing) (will stroll, walk, be strolling, walking)

2. The future tense of any perfective verb requires simply the non-past conjugation
of that verb. Everything that you learn concerning the one-stem verb system (for
conjugation of the present tense of imperfective verbs) applies to perfective
verbs, as well. Just remember that the non-past conjugation of an imperfective
verb gives the present tense, while the non-past conjugation of a perfective verb
gives the (perfective) future.

Now look at a sample imperfective verb (uuTdTs) in all three tenses, and the per-
fective verb ctats in the past and future:

VERB: 4AT4ThH

Imperfective Present Imperfective Future

Past

YUTAT YUTAI0, YUTAEND Oyny uurdrh, OYHemb YUTATH
qUTATA YUTAET, YUTAEM Oyner unTdrh, OYIeM UUTATbH
YUTATIO yuTdeTe, YUTAIOT Oynere yuTiTh, OYIYT YMTATH

qUTATIM
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VERB: cTaTh

Perfective Past Present Perfective Future
cran — A CTAHy

cTdna THl CTAHEIIb
cTdno oH/OH4 cT4HET
cTanu MBI CTdHEeM

BBl CTdHeTe
OHHM CTAHYT

The Prepositions B and Ha

One of the most significant areas of divergence between English and Russian is
found in the usage of prepositions. Since English is no longer a “case” language, the rela-
tionships that can be expressed by case are given in terms of syntactic word order and
prepositional usage. This means that sometimes English uses prepositions in instances
where Russian does not. Furthermore, translation of prepositions is very tricky when
there are more (or fewer) prepositions in the one language than in the other.

Such a situation occurs in reference to the Russian prepositions B and HA, which
may be translated into English as: in, on, at. Clearly, the situation is more difficult for
Russians learning English than for English speakers learning Russian.

The preposition “8”. The Russian preposition B refers to a spatial situation in which
the object of the preposition is literally contained within a given area, enclosed in a
space. Therefore, in the most basic sense, Russian B is very close to the English preposi-
tion in. Note the following examples:

B boctéue in Boston
B Pocciin in Russia
B Mocksé in Moscow
B Marasmfue in, at the store
B KOMHATe in the room
B YHUBEDPCUTETE in, at the university
In many instances the preposition B can be translated into English as “at”:
B MarasiHe: in the store, at the store
B HAmeM YHUBEPCUTETE: in our university, at our university

The preposition “ga”. Recall from Chapter 1 that “Ha” means “on”: Ha cTONé, Ha
kuyre (on the table, on the book). Notice that “Ha”may be figurative or literal, i.e. as a
means of transportion or as a surface upon which one might be located. (In contrast, the
preposition “B” very literally defines an area within which the prepositional object is
located.)

Ox cupit B aBTéOYyCe. He is sitting in the bus.
Ms1 croiim Ha aBTéOyce. We are standing on (top of) the bus.
Oud éner ma pabory ma asrdbyce.
She takes the bus to work. (She
goes to work on the bus.)

The preposition “Ha” can also be translated as “in” or “at” when its object refers to
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an activity, rather than an enclosed space (where “8” is more likely to be used). Words
denoting activities such as work (pabdra), a meeting (coGpdnue), a concert or opera
(konnépT, Gmepa), or a lecture (néxumsa) will therefore require “Ha” (Ha aékuuy, Ha
cobpduuu, wa woHuépTe, Ha palbdre, etc.). See the list at the end of this section for all
nouns you have learned up to now that fall into this group.

Finally, complications arise when the Russian noun following the preposition
requires the use of “in” in English, but the use of “B” is blocked in Russian for one reason
or another. In other words, there are some nouns that don’t follow the patterns we have
just described and take “Ha” where you would expect them to take “B.” Of these excep-
tions, here are a few examples:

na Ky6e in Cuba

Ha Yparnue in Ukraine

Ha Ypdie in the Urals (mountain region)
Ha YIuue in/on the street

Ha 10re in the South

Ha méure in/at the post office

In these examples, the use of B is strictly prohibited in Russian for the following rea-
sons: (1) Cuba is an island, and the preposition Ba is used with most islands; (2) The
word YkpainHa is, in fact, a former compound of y + Kpaii, meaning “near the border”.
Words of this nature cannot be used with the preposition 8; (3) the Urals are unusual in
this sense — most mountain ranges require the preposition 8; (4) the use of B with yauna
would mean “in the concrete of the street,” a meaning that the speaker would have very
little opportunity to use! (5) the four points of the compass take Ha instead of B; (6) post
office is simply irregular in that it takes Ha.

To summarize, then, there are different groups of nouns that require the use of Ha
instead of B. The following lists all nouns you know that fall into these groups:

Activities: VDPOK, NéKuus, ceMuHdp, 3aHdTue, Kypc, pabdra, cobpidunue,
KoHLEPT™, Onmepa”™ (*these can take B if participation in the per-
formance is meant)

Points of the compass: césep, BocTOK, Ior, 3dmam.

Certain geographical names: Ypdn, Yxpaina, Haskds, and all islands (except for
Japan: B flnénun)

Some places: 3aB6n, GaOpuka, nmdéuTa, CTaguCH, KYXHsH, BOK34]

Places you are always “on,” never “in”: yauna, stax’

Examples:

1. Hdmr ynusepcutér saxdégurca B Hdpeme. Our university is located in
Durham.
2. Mp1 wuBém Ha yaune [Iymruna. We live on Pushkin street.
Ou newnr Ha yauue. He's lying in the street.

3. Mos mdva pabdraer Ha néure. My mother works at the post office.
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4. Cecrpd pabdraer B ropoackéit 6ubmmoréke. My sister works at the city
library.
5. Met nénu B émepe. We sang in the opera.
6. Buepd mp1 Ovinu Ha koHuépre. Yesterday we were at a concert.

You will soon learn that B and #a can take the Accusative, as well as the Locative,
case. Regardless of which case is used, stick to the B/Ha rules given above!

Verbs “to go/walk” and “to be”
in the past tense: XoqiTh/GHITE

It is possible to interchange the verbs xoxiTs/0bITh in the past tense. The difference in
meaning corresponds to the English:

(1) xomith: “Where did you go last night?” - “We went to the theatre.” Kynd Bsl
Xonrau Buepd BéuepoM? - Mpl XomWnu B TedTp;

(2) ObITE: “Where were you last night?” - “We were at the theatre.” I'ne
BBl ObLIM Buepd BéuepoMm? - Mbl Orlau B TedTpe.

Note in the examples above that, while the same preposition is used (in this exam-
ple, B), the accusative case appears in the expression with xoaiTs, while the locative case
is used with the verb 6piTs. This difference in case usage follows a very broad rule con-
cerning verbs describing motion and stasis (“location”). That is, with most verbs of
motion (such as XomiTs), after the prepositions B/HA the Accusative case is required.

In addition, the interrogative word used in expressions with verbs of motion will be
Kynd, rather than rne. Bothrge and xynd translate into English as “Where...?”, but the
distinction between them is like the Middle English distinction between “where” and
“whither” [to where] {Old English hwider }.

Remember that with static verbs, i.e. verbs that do not indicate motion (such as ObITS,
pabdraTh, yunThCH, etc.), the prepositions B/HA + Locative case are required.

Please pay special attention to the fact that the past tense of the verb xomite means
to make a round trip, i.e. “to go and come back to your point of origination.”

Examples:

1.'me o1 Obnd Ha mpémnoit Hepéne? - fl 6114 B Mocksé. Where were you
last week? - I was in Moscow.

2.Yro b nénan Buepd Béuepom? - fl xomin B pecropdd. [Note that XomdTh
is preferred in this type of question/answer sequence.]
What did you do yesterday evening? - I went out to eat.

3.T'ne Bol Ovlam Buepd? - Mpr 68U 16mMa. Where were you yesterday? - We
were at home.

4. Kynd Kéna xomin m6usio? - On xomnn B 6ap. Where did Kolya go last
night? -He went to a bar.
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Verbs “to stroll” and “to walk”: ry1iTs/X0 1T

Modern Russian has a very large group of verbs that describe all kinds of motion
(including “going on foot,” “going by vehicle,” swimming, flying, etc.). In this chapter,
we consider only two verbs that refer to walking: rynfth (to stroll, take a walk) and
XomiTh (to go, walk). One of the most important differences between these two verbs is
the cases which they require:

ryndte (rmé) - B/Ha + Locative
XoouTh (KyOd) - B/Ha + Accusative
The following examples demonstrate the basic usages of these two verbs.
1. Kéxapiit 1éup # ryndio B ndpre. I go strolling in the park every day.

2. -Uro Ter néman Buepd? - f xomina B xuES. What did you do yesterday? - I
went to the movies.

3. MnHa rynder ¢ cobixoix yrpom, a Iléra rynder ¢ méit séuepom. Ina walks
the dog in the morning, and Petya walks her in the evening.

4. -Uto BBI ménanmm Ha npouutoi wenéne? - Mel xomiau Ha KOHIEPT B
Qunapménuo. What did you do last week? - We went to a
concert at the Symphony/ Philharmonic.

S. -Uro Th Gymems nénats Béuepom? - A Gymy ryngte B JléTHeMm cany. What
will you be doing in the evening? - I'll be strolling in the
Summer garden.

6. MBI 1606MM XONATH B PECTOpAH, KOr4 €CTh NEHBIH.

We like to go out to eat when we have the money/when we
can afford it.
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Use of the Instrumental Case with bbITh and CTATH

With Russian verbs that mean “to be,” “to seem,” “to be considered to be,” to
appear,” etc., the predicate is usually expressed in the Instrumental case, but sometimes
in the Nominative. The only two verbs you will need to apply this rule to so far are OxITb
and CT4Tb.

BeiTh: You will recall that the present tense of the verb “GpiTs” does not appear in
the sentence, so the “object” is always in the Nominative:

Moit 6par — mnpemomasdrens (paHuysckoro f3bikd. My brother is a French
teacher.

Stor Gonbméit yenoBék— monuréior. That big (tall) person is a political sci-
entist.

In the infinitive and future tense forms, the Instrumental case must be used for the
object of the verb “to be”:

1. Kém 181 x6uems GpiTs? - f X0uy OMITH MHKEHEDPOM.
Who do you want to be (when you grow up)? - I want to be
an engineer.

2. Uépes rén a 6ynmy Bpaudm. In a year I will be a doctor.

The past tense of “to be” can be used with either the Instrumental or the Nominative
case forms.

Use the Nominative when the predicate is a primary defining characteristic of the
subject’s life that was or seemed to be a constant, essential identity. This would most
likely include ethnicity, gender, legendary identity, and religious orientation (unless any
of these changed during the subject’s life).

1. Jléuun Ovin peBOIOLUOHED.
Lenin was a revolutionary (this is considered the primary
defining characteristic of his life).

2. Jles Hurondesuy Tonctdéit Gbin pycckuii.
Lev Nikolaevich Tolstoy was Russian.

Use the Instrumental when the predicate indicates a characteristic that the subject
was not born with, is subject to change, or was not the defining characteristic of his iden-
tity:

1. Moit otér 6511 CONEATOM BO BpéMs BOIHEL.
My father was a soldier during the war.

2. f obnd crynéutroit IiOrckoro yHusepcuTéra HECATH JieT TOMY Hazdm. I
was a student at Duke ten years ago.

3. Kornd AnTtéH OBl MOJIOABIM, OH PEIKO YUTAN razéry.
When Anton was young he rarely read the newspaper.
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The verbs crates and paGérare. Whenever you encounter CT4Th in any form (past,
future or infinitive), put the predicate noun(s) and/or adjective(s) into the Instrumental
case:

Ou ctén xopémum mpesunénTom. He became a good president.
fl xouy crire mpemonasitenem. I want to become an instructor.

In Russian, the verb “pa66taTs” is often used when expressing professions, or how
people earn their living. When “pa66tats” is used in this way, put the profession in the
Instrumental case (for all tenses):

Moit orén pabdran skoHomiicTom. My father worked as (was) an economist.

Cectpd pab6raer oduuuantroii. My sister works as waitress /server.
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Yupawnénus
I. Verb Practice

Bpéma - Tense

1. Answer the questions 1a or Het, using the present tense of the verbs and the adverbs
yicTo, pénko, uHOrnma, BCermd, and oOBIYHO.

O N o Ul N

o

10.
11.
12.
13.
14.
15.

MODEL: -Trl mOOume MuciTs myuceMa?
-Jla, 1 wdcTo MUY NKCHMA.
OR -Her, a pémko mumy micema.

Tsosf mdma mO6UT nérh?

Tr1 mobums BcnoMuudTs npoIIIOE?

310t aKTEp JMOOUT TaHnesiTs?

Trort mndnmue OpAThA NIOGAT PUCOBATH?

Ty mb6ums gaBiTs KHATU IPYTy?

Brl mio6ute pacckdssiBare 0 HALIEM YHUBEPCUTETE?
Tel nO6Umb cMOTPETH TENEBU30D BEUEPOM?
Tr1 mobums XomdTh B KUHG?

Bam npodéccop modOUT coséroBarh CTYyméHTY?
Tet mo6ump ryndrs B nipke?

Brl mo6ute nndsars HOUBIO?

Vpdn mbOuT mponaBiTe CTAphle MAIIAHBI?

Tr1 mb6ums ners B BAHHONI?

CrynéaTel némMEAT HOBBIE CJIOBA?

Kax Tebs 3oyt TBOW pomiirenu?

2. Change the above sentences to the future, using adverbial expressions that make sense
in the context.

MODEL: Her, wo 3dsrpa s Oymy mucdre mucemé OpATy.

B. Answer the questions, changing the tense from present to past and using the adverbs
JasHO, HeNABHO, paHbuie, B NPOIIIOM, KOrIa-To, BUEpd.

NS e

W

MODEL: -Tr1 némBums Moit HOMep Teneddna?
-Kornd-ro s mémuun ero.

Tsos moapyra xusér B Hamupopuauu?

Bst Bcernd ormpixdere Ha wore?

Braniivup ndmer cefiudc mucbmé marepu?

Trl emé x6uems YKUHATE?

['6pon Kites maxémurca B Poccruu?
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6.
7.
8.
9.
10.
11.
12.
13.
14.
15.

Byl xopomé nonmmdere BAmEro pyCCKOro IpenoNaBaTesa?
JIéna wicTo x6maMr B KUHG?

Anna ceituic B Ilerep6ypre?

Tsl 06p1uHO R6NT0 3aHMMdembca B OuOIMOTEKE?

Tsout mndpmue GpiTea Godrca Bdmedn cobaxu?

Cepréit pacckdsmBaer T€6é 0 Poccru?

Tsosf mdma xopomd Tamnyer u noér?

Tr xégume B 31y mKGIY?

Onii wicto ryndor B 3ToM mipke?

Trl K&mmplii DeHb nadBaems?

B. Complete the sentences using the verbs in parentheses. Use the necessary tense, pay-
ing attention to expressions of time. Recall that the future tense is formed using the verb
ObITh + the imperfective infinitive, except with the perfective verb crars.

e

10.

1

2
3.
4.
5
6
7

B npéuutom ropy moit 6pir (become) aJIBOKATOM.

bynymum nérom s (be) nponasuom; A (sell) KOMIBIOTEPHI.
B o6ynymem Béxe mionu (stroll) Ha Mipce.

B npéuom mécaue moit apyr (see) XOpOwuit GuibM.

Ha 3roit nenéne a (sing) u (dance) B HAIeM TedTpe.

B 6yxymem roay mel (study) DPYCCKMM A3BIKOM.

B npémiom Béke B 3ToM 3ndHuu (be) népsas anrtéxa; ceitydc 3mech
(be located) UHTEPECHBIN MY36id.

DTOT MOpTPET XyXOWHUK (draw) 6ueHn naBHO.

B 3rom rony a He (swim) : Bpay HE COBETYET MHE.

Buepd a (recall) MOIO CTApYIO TMOAPYTY, KOUOA caymana HAmy

TIOOVMYIO MY3BIKY.

I'. Answer Het, changing verb forms and predicate nouns/adjectives as necessary. You
may add adverbial time expressions for variety (1aBa6, HendsHo, pdHplie, CKOpPO, KOrnd-

TO):

MODEL: -To1 ummenép? —Her, Ho a1 x0uy crdre ummenépom. (or,
cTdny umxenépom; 1 Oyny pabéTars mHmeHEpPOM) -Are you an
engineer? —No, but I want to become an engineer.



Chapter Four ¢ 163
On my3pIKdHT?
TB6it GpdT BOAWTETH TAKCH?
fl wpaciisas wénmuna?
Tr1 3HaMeniToIM nHUCATENS?
Byl xopémuit amsoxdr?
On Gonpméit MOMATHK?
Byl crdpmuii npenonasireinn?
Tsos cectpd—erd mobuman néBymka?
STOT COBETOIOr—aMepUKAHCKUI Tpodéccop?
Bam 6par—nupéxtop rocymipcrsenHoro 6anka?
Twt ussécruniit yuénsiin? (NOTE: yuénpiii, like paGduuii, is one of those nouns
that behaves like an adjective.)

12. Ou rtanduTauseiii mesén?

OO0 0N oUW N

Jl. Answer ger, explaining that though the person is not now X, he or she once was...
(adding adverbs when appropriate):

MODEL: -Tet pab6uuit? —Her, Ho pdHpme g 611 pabdumm.

COJKEHALBIH COBETCKUIN MUCATENH?

ENBIOMH KOMMYHMACT?

bym pemoxpdr?

Tsoii Opar yurTens?

On xop6muii nupéxrop?

Tsost mMdma OmbITHBIA Bpdu?

O U W N

['opbaués M3BECTHBIN MONATUK?
Muxarin lemdxun uHTEPECHBIN XYIGHHUK?

&

9. Tsost cectpd mpomaséu?

10. Anexcaunp Pyuxoit Brue-Ilpesunent?
11. DToT axBOKAT TBON XOpOWMil 3HAKOMBII?
12. Tlpox6dbeB — UHTEPECHBIN KOMIIO3UTOP?

IL. Answer the questions using the words in parentheses.

MODEL: Kém on pabdraer? (coséraux [Ipesuménra)
On paGdraer cosérauxom [lpesunénra.

1. Kém 6u pabGéran B mpéumiom roxy? (cTdpmuit uHmeHED)
2. Kém 181 x0uems OvITh B OyaymeM? (M3BECTHBIA MY3BIKAHT)
3. Kém tB0od Mdma Obind pampine? (3maMeHiiTas akTpUca)

4. Kém T'opbaués Orin B npéuutom? ([Ipesunénr crTpaHsi)
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5. Kém omd xdéuer paGérars? (Bpau B roCymApCTBEHHOW GONBHALE)
6. Kém TBO#I mpyr pabGran pdubine? (HypPHAIUCT YACTHOM ras3érhbl)
7. Kém paGéraer erd mima? (CTpoiiTesnbHbI paboumit)
8. HKém 6ymer 18O cpin? (TandHTIAMBBIA XYIOHHUK)

9. Kém 6nind 1tBOA 640ymka? (GmepHas mesyua)

10. Kém 181 6ymems pabéTats ndcne ynusepcutéra? (YudTendb YACTHOM IIKOIIBI)
11. Kém Gymer tBO# mpyr? (TandHTIMBBIA yYEHBIN)

12. Kem 6pin bunn Kauron s npémmnom? (rybeprdTop Apkansica)

IIL. Fill in the blank with the conjugated form of the appropriate verbs BII€Ts/CMOTPETH:

1. Buepd = TeneBr3op o moxyHoud (until midnight).
2. Twr diaem “Boiied u mup”?

3.4 B OKHO U Gonpmyo CoOAKYy.

4. Tul mend ? fl cro ma croné.

5. Buita midbbur Ha CBOI IOADYTY.

6. I'né wdm mpenonasirens? Trl He erd? -Her, ne

7. Ildsen B OKHO, HO HMYerd He : ObLId HOYB.
8. A mobmod cTdpble PUIBMBL.

9. 4 Ha MO0 mMoOUMYI0 OEBYIIKY, a OHA TEeJIeBU30D.
10. 4 , UTO THI TOBOPWIIL MPABLY.

IV. Fill in the blank with the conjugated form of the appropriate verbs XoXATb/Ty14Tb:

1. Tel m60ums ?

B cy666ty (on Saturday) s B OuUOIHOTERY.

Hynd o BYepa?

Korpd 181 00v14HO ¢ cobdxoit?

Buepd mnl B 300IA4PK.

B cy6066Ty MBI ¢ mompyroit B TOPOICKOM mapKe.

Moii peGénox ymé

Mo# wacrl [clock, watch] minéxo

O X N oy YL N

Yré el nénama yrpom? - f
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10. T'né et Obind? - A B MarasiH.

V. Fill in the blank with the conjugated form of the appropriate verbs néMHITE/BCTIOM-
HHATH:

1. -Tst muxorgd mumuerd He . - Dro menpéena. f Bcernd Bcé

2. bpir 6uens yicro 040ymky. I eé muéxo , TOTOMY

yto oHd ymepnd (died), xormd s Obind GueHb MATEHBKOM.

Anéma, Tl Medd ? - Kounéuno g Te04d

Met mib6um o [lerepGypre.

Onnt MeHd, Kormd oHd cMmOTpaT UMbl 06 Amépuke.

Bzt xopomé ubBbie CNOBA?

fl 3mdio 3ty méBymky, HO He eé rMeHn.

L Ny Utk w

Horxd a casuny 3Ty MYy3bIKY, fi npéuuioe néTo.

VI. Fill in the blanks as indicated:

cy666Ta. f MpOLITYIO . D10
(1) Today (2) recall (3) week (4) was (5) good

. f1 mudro U XOpoIo . Késmmerit péup s
(6) week (7) worked (8) rested

B yHuBepcutér. fl MHTEPECHBIE JNEKUNY,
(9) walked (10) listened to

KOHCIEKTbI, U npenojasiremo. Ilorém a
(11) wrote (12) answered
B ndpKke WM _______ B
(13) usually (14) walked/strolled (15) swam

baccéitie (in the pool), u a1 . f1 xopomé
(16) sometimes (17) drew

u . 1 TIOMOTATa
(20)sing  (21) Last (22) week

nénaTe IOMAIIHee 3aJdHMue. MBI C

(23) my (24) friend (25) Yesterday

néi B KUHO, MBI HOBHI QuineM. B dunbMe MBI
(26) walked (27) saw

aKTépa u .
(28)saw  (29) a well-known (30) musician (31) Tomorrow

1 Bécy (whole) néun . Méit mpodéccop
(32) will stroll (33) advised

MHE . B oynymem s YUEHBIM.
(34) to rest (35) want (36) to become

(18) draw (19) dance




166 ¢ Chapter Four
VIL I'ne/Kynd?

A 1
2.

RN oUW N

©

10.

Identify the case of the underlined words and explain why that case is used:
Replace xomin with the appropriate form of 6511, and vice versa, making any
other necessary changes.

MODEL: 1. Buepd mosf mudmmas cectpd ObLid B
Te4Tpe.

Buepd mod mnmdnmias cecTpd xomima B Tedrp.

fl masué ué Owbin B_TedrTpe.

Buepd Bce 3mameniiTeie mucdrend OviiM Ha COODAHMM.
WssécTuniit monuTdnor Obln HA YKpauHe.

Ter xomiin Buepd Ha JEKLMIO B_YHUBEDCHUTET?

Jlétom yuénsiit ObLT Ha CéBepe.

Onér se xomin Buepd Ha pabOTy.

fl me mobmb ryndirte B mipxe.

Tsr xomin Buepd Ha mOYTY?

Cuavdna MuH#AcTp OBLI B MUHUCTEDCTBE, a MOTOM XOOWJI B TEATP.

B. Ask a question that would elicit the given answer, focusing on the underlined infor-
mation. For variety, you may replace 6b11 with xonun and vice versa; but make sure to
use the correct adverb - rue or kynd.

MODEL: a) - fl nmasué mé Owln ma IOre.
- I'me TB1 masuG He ObLI?
6) - Ha opduutoit menéne a xomin Ha Snepy

“Eprénuii Ouérun.”
-Kynd te1 xomin ma npémioii Henéne?

Pdnpme B _GosbHMLE ObLT ONBITHBIA Bpad.

Buepd Mbl Xomunu B GNepHBINA TedTp.

B IlerepGypre s 0yoy XOmdTh B JDMUTAK.

Mue HpdBuTCsA IyaiTh B HADKE.

B npéunom rony cosérauk [Ipesunéura Gbin Ha cépepe.
Ha npduinoii nenéne A He XONWI B_YHMBEDCUTET.

Moéit 640yuike HpABUTCA TYNATH B Marasuge.

DToit GCeHpI0 MY3BIKAHT OBLT Ha KOTe.

Buepd Béuepom Tdmsa xomina Ha méury.
JIérom mssécTupiii mucdrens Oyuer Ha cépepe.
Buepd s we xomia Ha cobpduue.

fl naBHO He ObLIA Ha KOHUEPTE.

Hendsuo s xonina Ha MHTEPECHYIO JEKIMIO.
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14. B npémnom roay coseréaoru Gsiny Ha Yxpadsme.
15. Xopom6 wute nérom na Kasrdse!

B. Choose the necessary preposition and put the word(s) in parentheses in the appropri-
ate case.

1. Méi madnmuit Opar yuurcs (Mo mxéma).

2. fl wusy (xpacriBas yauua).

3. Méit orén pabdraer (bonbGH 3aBGH).

4. Ham répon (cérep) crpaHsbl.

5. Mrp1 sanumiemcs (yHuBepcuTéTCKasn
OubaMoTéKA).

6. Hardma mus8r (Mockzd) n (ndng u
TETA).

7. Mod mdre o0OpiuHo obGénaer (pabdra).

8. fl mobmid cnymars MY3bIKY (koHDEDT).

9. Ceitydc # muBy (tor).

I'. Answer the questions using the word(s) in parentheses, adding the correct preposi-
tion. Make sure to change the person and verb form where necessary:

MODEL: ['né wusér tBG# Opdr? (Yxpaina)
Moéit 6pdr wusér Ha YkparHe.

'me Bul wusére? (Mocksd)

[ne te1 ywunaems? (crondsas)

I'me mp1 00énaem? (310 Oonpmide 3ndnue)

['ne Bb1 3anumderecs? (MG 16M)

I'me wusyt 040ymxa u pénymxa? (céeep)

Ime o1 ywunaems? (Bdma KpacrBafd TOCTHHAA)

[ne on cnymaer my3siky? (pabdra)

R NN UL N

I'ne mel pasrosdpuBaem? (kBapTrpa bopiica)

o

I'me omit 3dsrpaxaiot? (3aBom)

10. Tne a yuycn? (xoplumit yHUBEPCUTET)
11. Tme BBl oTaeixdere? (3dmanm)

12. Tne o1 Biinena Anuny? (6mepa)

13. T'me mun monondéi Crdmun? (Kaskds)
14. T'me ts1 Buepd Gprn? (Nékuus)

15. T'me néru nadsaior? (MOpe)

VIIL Verb Structure Exercises. The following exercises (A-I') are meant to deepen your
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understanding of the stem-type system; look over the explanation of the verbal stem-
types in your supplement before doing them.

A. Check the appropriate columns to indicate the features of the following verbal stem-
types.

Husher-a aj i e a ova Vv XoTérh

I Conjugation

II Conjugation
Mutation in 1sg
Mutation in all non-past
Stress shift in non-past

Stress shift in past

b. Give and conjugate one example for each type given above, giving the 1sg, 2sg, and
3pl non-past forms for each. Conjugate the verb xotérs fully in the non-past. Give the
masculine and feminine past tense forms for all verbs.

a.

- 0o N U

g.
h. x0TéTh:

B. In this exercise you are supplied with verbal stems and selected endings; you are to
combine them according to the principles of ‘truncation” and ‘addition” (whether you are
familiar with the given ending or not). Generate the real Russian forms, written in
Cyrillic.

Ziv+1=
govor’i +it’ =
lubi+u=
zévtrakaj +t' =
pomogéj +u=
lezda+1 =

Vezd +1i¥ =
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vid’e + at =

ull +im +s’a =
pisa+u=
d-avéj + os =
tanc-ova + u =
r'is~-ova + la =
Z/v-A+1=
Z/v-A+u=

(Hints: 1. remember mutations! 2. what does ‘x’ [as in udi-] mean?)
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I'. Knowing the stem-types of the verbs given in chapters 1-3, generate the 1sg, 2sg, and
3pl of the following new verbs:

noxyudre (aj) ‘receive’
ckazdts  (a) ‘tell’
noBTOPATL  (aj) ‘repeat’
cmotpéts () ‘look, watch’
3ak6HuIuTH (i) “finish’
kpuudts  (husher-a) ‘shout’
cavimats  (husher-a) ‘hear’
cuuTdth  (aj) ‘count’
CTATB* (n) ‘become’

oxeBdts (aj) ‘put on (clothes)’

*Hint: this type works like the ‘v-type’, but with the stress on the root
(=stem here), not the ending.

IX. Answer the following questions. OTBéTbTEe Ha BOIPOCHI:
1. Kewm pabdraer Bima mama?

Hem paGdraer pam orén?

Kewm Bo1 xoriite (pabGdérars) crath B Oymyuem?

['ne Bol 6ynmere pabdérars?

Brr xordte paGértarte B wdcTHON (Qrpme?

Kro paGéraer 8 npasritensctee CIIA? Poccru?

Kro pabdraer B Tedrpe?

['ne pabdraior uHxeHEPHI?

O XN oYL WD

['ne pabdraior Bpayn?

—_
o

Kro paGdraer B yHusepcutére?

pd e
DY —

Uro pénaer COBETHUMK?
['me Bor midOute ryndrs?

—
w

[ne Bl oTneixdnu, xorpgd Bol OvlIM peGEHKOM?

P
Ea

me m kak BBl JIOOUTE OTHBLIXATH?

—
i

Kornd xopomd orasixdth Ha cépepe?

—
o

Kynd Bol 00piunO xOpuTe mocie ypoxa?
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17. Kakéro amepukduckoro (pycckoro, HeMEéIKOTO) MY3BIKAHTA BHI
3HdeTe?

18. Kaxda wénmuna Oyner sdmei mendin? nnu: Kaxdi mymxurna Oymer
BAMIUM MYMmeM?

X. Your friend has just entered college and doesn’t know what to major in. Advise her or
him what (s)he should become after college and what to study now. Give her/his
answers.

XI. Choose an older relative or friend who has had an interesting life and describe where
(s)he has worked, lived, and what his/her professions have been. Explain what and
where you would like to work, as a response to this person’s experience. (You may
choose a famous person to emulate instead of a friend or relative.)

XII. Choose a place — a big company, the government, a university or school, a factory,
etc. — and describe who works there and what each person does. Name and describe the
work of as many professionals as you can.

«Ha Gaay y 3onywxus., 11.50 —
PunsMu pemuccepa C. Konoco-
Ba. «IloMHH HMs cBoe». 13.10 ~
Berpewa ¢ Jlapucoit Tpyxusol,
13.40 — <Hosule NMPUKIIOYEHH I
HeynoBuMbIxX». Xya. chunbm. 15,15
— e¢Byner aH KEOMMYHIIZM?»,

16.30 — «<ITecHa-91». 18.00 « —-

Myaerpnapm, 18.05 — KuHokow.
uepr. 18.25 — MHRYTH NO33HY.
18.45 — «Mametbka»., Xyxn.

‘GHIBM. 20.00 — «Bull» npeacras-

aser. «[lone wyypec». 21.00—Hy-
$opMauroHHas nporpaMma. 21.40
— <«Bull» npepgcrasaser; 1.10 —
«H3 musHM oTanixalomuxs. Xyx
duasm.

Poccusicunsi  waman, 8.00 —
TuMHactaka. 815 — Myabr-
$uasM, 8235 — TeaTpw MHpa - B
Fepmanun, 8.05 — «B aduwax
He 3HaYATCHY». 8.50 — «<«Hrpai,
rapMoHpis». 11.00 — Tpann. 12.00
— ‘«K-2» npepcraBnsier. 12.45 —
lpurnamaer IleHTPanbHbIl Howm
apxurextopa. 14.00 — Tewnuc.
Ky6ox Kpemns. 1530 — «Boua-
BpaleHHe HMeHH». 16.10 e
®uneMm ans perelt. «Tapuis. 16.30

8 HORBPRA,
Nep NATHHLA

Bas nporpamma, 8.00 -— - TeaTpanbHH pasbesn, 17.35
My.r’i.b"l;?unbuu. 8.80, 15.00, 23.45 —®unbmur 0. TopHuekca. «Mnis,
o CH. 8.45 — TxakBoHZoO. Ky- 18.30 - <«KpacHule u Genbies.
6ok <«CamcyHrs, 9.00 — <«Bocno- 19.00 —~ «4YepToBO KOneco»,
MuHaHHe o <Kopombem Mmapure», 20.00 — Bectu. 20.20 — «Crio.
Tenedpunbm. 10.00 — Ipunoske- #oHHON HouM, ManbuuHl». 20.35—
HHe k e<KuHomnakopaMes. 10.30 — doxyMenTanbHbil  duabm. 20.45

— <«OuapoBaHHe -.pyccKoro po-
MaHca»., 21.15 — XyposecTBeH-
HBlH dunbMm. «flchis. 23.00 — Be-
CTH. 23.20 — TeHHuc. Ky6ok
Kpemna, 0.20 — M. ¥saueijkuii,
HabpanHoe, .

O6pasosateasMan ' nporpamma,
18.00 — JHerckull yac. 19.00 —
Kamepunifl pycciuit xop.  19.30
~ <«XpoHHKA BpeMeH  OpPaHLY3-
CKOH pesonousHs, 20.30 — «Cre-
THABHHKH OpMHTama», 20.45 —
«CriorcoliHolt Howw, ManbILIK!»,
21.00 — AnrauMcruit sswie. 1-8
ro%. 21.30 — AHIrOHHCKHE A3bIK.
22.00 — <«BHHMaHHE: CHHMAIO!»,
22.15 — Kapao Toyuu. «M1w060Bs
K TPeM anejibCuHam». .

OCKOBCKAR nporpamma, 7.00
~— «2X2». 18.45—HosocTu. 19.00
lMaropama [logMoctoses. 18.30
— Jo6psi Beuep.” Mocksa! 21.00
- HpOPMaUHOHHAR nporpawv-
Ma. 21.40 — XpoHHKa lpoucuic-
creuit. 21.45 — JoOpnifi peuep,
Mocksal 23.00 ~— €2X2s,
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XIIL [TepeBenuTe Ha PYCCKUN A3BIK:

1.

10.

11.

What do you advise me to do? I like to draw, but I also like to dance.

I Want to become a doctor, but my sister wants to be a musician.

-What are you looking at? -I'm looking at you. I was just remembering how we
lived in the dorm in college.

I advise you not to watch TV all the time.

In the future I will not think about him. -What are you telling me?

-Where are we (located)? -We're standing in a store. The salesman is selling us a
house.

-Where were you last night? -I went to the movies. What did you do yesterday?
-I went walking in the park.

~-What are you giving me? -I'm giving you a letter. Don’t you want it? -I don’t
have time to read today.

-What are you doing? -I'm singing. Would you like to sing with me? -No
thanks! I'm not a singer.

My brothers, the famous writers, live in the north, and my parents live in the
south. ButIdon’t remember where your sons live.

-Do you see the artist? He’s selling his paintings (kapriina/kaptiiasi) on the
street. -No, but I see the lawyer at the post office.
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t, but are not

list as much information
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IL. Now read the article. Do not attempt to understand everything the first time! It may
be useful to know the following words:

cuurderca is considered
onEViM u3 HaubOnee one of the most
cobrITHe event

NéHnTCA is valued
HOoANEéPKKA support
ob6benunAomuil uniting

BHICOKH U TIPEKPACHBI high and beautiful; fine
He MMEI0T ce06é PABHBIX have no equal
NpUHATU YY4CTHE participated
nobegirenu victors, winners
npuobpent acquired
HETHEIIHU the present
3afB0K (3asdBKa) of application
OpeIbIIYIIuX of previous
IpoUayT will proceed
KOTGPYIO which

CIéxHO U MHOroobpdsHo complicated and varied
MCIOJHUATENH performers
CMBIYKOBBIX bowed
3apybéxuble foreign
COTPYIHUYECTBO cooperation

a. Read the article again. Identify the subject and verb of each sentence.

6. Read the article again. What do you think the following words mean?

1. xéurypc 9. naypedrsl HEPBBIX MpEMMUIA

2. COpeBHOBAHIE 10. Tpu 1ypa

3. MUpOBAA KyJNbTYpa 11. mporpimma

4. unrepéc 12. macrepctsé

S. KJaccrhyeckas My3blKa 13. asropurérHoe wiOpU

6. XyIOmeCTBEHHbIE TPATAIUY 14. néppoiit 3apy0émublil céHCOp
7. pex6puHoe 4ucid 15. xpynuéitmas snduckas GripMa
8. MHTEPHAUVOHANBHBIA MPA3NHUK MY3BIKU
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III. Answer the following questions:

L
2. What Soviet musicians supported and guaranteed the success of the competition?
3.

4. How many competitions have been held? (Which number competition is this

o

0 NS

10.

How many years has the Tchaikovsky competition gone on?

How many young musicians have participated in the Tchaikovsky competition?

one?)
How many pianists, violinists, cellists and singers are participating this time?
From how many countries do they come?

How many rounds take place?

Who heads the jury for each instrument?

Who is the first international sponsor of the competition?
Will the competition be broadcast on radio or TV?

If so, when and on what programs?
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IV.Uro aT0? Say as much as you can about this. (410? kT0? T1e? xkorga?, etc.)
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